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1- Complete by drawing® to form the number 10, then write the number :

‘;Qrp;-i. | '.i. I ..',.'i'
| | |eo|le® | | |
7+ =10 2+ =10 3+ =10
2- connect to form the number 10
0 2 6 5
8 10 5 4
3- Write the numbers :
31 32 33 34 35
4- circle the suitable number :
o o & & & 2 " 2 2 2 2 2 2 2 2 R
: : BRBRRRRREN
1 S| (RN BRRBRRES
$ L 2 R
32 33 34 30 33 35
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5- Complete by drawing the points according to the number :

/0 0|0
@0 00

6- Read and answer :

@0 00
e 00

Ahmed has 4 rad pens, 3 green pens . What is the total number of pens did he

has?

the total number of pens =

7- Count and connect the suitable number

AAAAAAA
AA
AA
AA
AA

dda
dddd
dddd
dddd
>p-pp

-

8- complete wit

the next number :

- o .
= . 4

32

(=)

34

pen

31
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9- Count and write the number , then Compare using the sign (>, <, =):

OO

10- Complete:
ot 2

11- Find the result :

D B L
o B 1 ]
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12- Delete to get the rest :

f__;:;- il
§ 3 o

s ¥ T W
6—-2=........ 9-6=.......

14-Find the result and connect with the suitable number:

5-1 @ 4
8-5 @ 9_6
3-2 @ 4-3

15 — Read and answer :

Ali has 8 flowers, he give 5 to his sister. How man flowers do he have left?

number of remaining flowers = - = flower






